| hp100 buffer10: A |

Entries 2048

| Detail: hp100 buffer10: A |

Entries 2048

=) - =) -
@ 10000 |~ @ 10000
5000 — 5000 [— | |
o - | :
— — 1 1
0 s ¥ 0 | e ——|
— — 1 1
— — 1 1
o o 1 1
-5000 |— -5000 [— ' '
-10000 |- -10000 |—
L 1 L L 1 L L 1 L L 1 1 1 L L L L
0 500 1000 1500 2000 100 200 300
(10/7 RF tick) (1077 RF tick)
| hp100 buffer10: B | Entries 2048 | Detail: hp100 buffer10: B | Entries 2048
=) - =) -
@ 10000 [— @ 10000 |—
5000 — 5000 |~ | |
- - : :
— — 1 1
0 ' — 0 /—— T
- = 1 1
— — 1 1
: : 1 1
-5000 — -5000 [— \ \
-10000 |~ -10000 —
1 1 | 1 | 1 1 1 | 1 1 | 1 | | 1 1 1 1
0 500 1000 1500 2000 100 200 300
(10/7 RF tick) (1077 RF tick)
| hp100 buffer10: Sum |A|+|B] | Entries 2048 | Detail: hp100 buffer10: Sum |A|+|B] | Entries 2048
= : ) :
T C i) C
20000 |~ 20000 |—
15000 [— 15000 [—
10000 [ 10000 [— ! !
C C | |
5000 [— 5000 |- | :
- - : :
0 i, T 1B LV I AU 0 :J]' AL T "‘:".‘-\.-"'-. =
0 500 1000 1500 2000 100 200 300

(10/7 RF tick)

(10/7 RF tick)



hp100 buffer10: A (< threshold) Entries 1778 hp100 buffer10: B (< threshold) Entries 1775
150 = Mean 11.08 50 Mean 75.84
B RMS 86.45 B RMS 89.62
- Underflow 0 B Underflow 0
B Overflow 0 : Overflow 0
50 - 50—
i 1 1 lon 1 mamllA] 1 | 1 | 1 1 I 1 1 | | 1 I'nnﬂr‘!nn' 1 1
-9000 -500 0 500 1000 -9000 -500 0 500 1000
(EV) (EV)
hp100 buffer10: Raw A Mod(FT) vs f Entries 120 hp100 buffer10: Raw B Mod(FT) vs f Entries 120
> [k 2 [
4000 [~ 4000 [ |
o (! o (|
3000 [~ 3000 [~
2000 2000 |-
1000 ?] M 1000 i—(l] ‘[J
O N 1 1 1 | L ! 1 PR T | 1 1 0 B 1 1 1 | L 1 | S T T ] 1 VS .
0 10000 20000 30000 0 10000 20000 30000
(kHz) (kHz)




| vp121 bufferl0: A |

Entries 2048

(EU

5000

o

-5000

O|||||||||

| vp121 buffer10: B |

500

1000

1500

2000
(10/7 RF tick)

| Detail: vp121 buffer10: A |

Entries 2048

(EV)

1

5000

-5000

VA
\

100 200

Entries 2048

(EU

5000

o

-5000

O|||||||||

500

1000

1500

2000
(10/7 RF tick)

| Detail: vp121 buffer10: B |

300
(10/7 RF tick)

Entries 2048

(EV)

5000

-5000

- A A
= VY

Entries 2048

w
~ 15000

10000

5000

vp121 buffer10: Sum |A|+|B] |
5

e e o S

.

o

500

1000

1500

2000
(10/7 RF tick)

(10/7 RF tick)

Entries 2048

| Detail: vp121 buffer10: Sum |A|+|B] |
)

w
~~ 15000

10000

5000

\‘.\—“—f"‘u"-

100 200

300
(10/7 RF tick)



vp121 bufferl0: A (< threshold) Entries 1785 vpl21 bufferl0: B (< threshold) Entries 1783
Mean 33.15 Mean 23.38
100 — RMS 1225 B RMS 131.8
- Underflow 0 : Underflow 0
| Overflow 0 60 Overflow 0
50 - 40 -
i 20+
1 e 1 i 1 1 ooy nls 1
-9000 500 1000 -9000 -500 1000
(EV) (EV)
vp121 buffer10: Raw A Mod(FT) vs f Entries 120 vp121 buffer10: Raw B Mod(FT) vs f Entries 120
5 L ] 5 L
wooL w _
3000 — 3000
2000 — 2000 — |
1000 :I_'] 1000 :HJ 111]
O i 1 1 1 | e -l | 1 1 | 1 0 i 1 1 %L 1 1 | 1 1 | 1
0 10000 20000 30000 0 10000 20000 30000
(kHz) (kHz)




| vp123 buffer10: A | [Entries 2048 | | Detail: vp123 buffer10: A |

= 10000 [— S 10000 [—
w - u -
5000 [— 5000 |- (k [\ /\ (\\
= 0F T T e T i e
-5000 |— -5000 |— U
-10000 = T R S A ac000 b2 o4
500 1000 1500 2000 100 200 300
(1077 RF tick) (10/7 RF tick)
| vp123 buffer10: B | Entries 2048 | Detail: vp123 buffer10: B | Entries 2048
S 10000 — S 10000 —
w - u -
5000 |- 5000 [— /\K
J= o 0o ——= e
5000 [— 5000 —
-10000 — T R S WA [ S S WA R S S SR S R S S S S -10000 — L L 1 L L L L 1 L L L L
0 500 1000 1500 2000 100 200 300
(1077 RF tick) (10/7 RF tick)
| vp123 buffer10: Sum |A|+|B] | Entries 2048 | Detail: vp123 buffer10: Sum |A|+|B] | Entries 2048
5 20000 |— 5 AU
T - i) C
15000 |— 15000 [
10000 = 10000 [—
5000 [— 5000 [—
0 o AR, e, : e S A 0 =1 " L LN | W e Y o S
0 500 1000 1500 2000 100 200 300

(10/7 RF tick) (10/7 RF tick)



vp123 bufferl0: A (< threshold) Entries 1740 vp123 bufferl0: B (< threshold) Entries 1769
- Mean 6.777 n Mean 4,767
60 | RMS 222.5 RMS 121.8
Underflow 0 100~ Underflow 0
i Overflow 0 B Overflow 0
40— L
i 50
20— i
1 1 1 1 I 1 1 || 1 1 1 rl 1 1
-.IQOOO -500 0 500 1000 -9000 500 1000
(EV) (EV)
vp123 buffer10: Raw A Mod(FT) vs f Entries 120 vp123 buffer10: Raw B Mod(FT) vs f Entries 120
28000 = 000 = |
w - L w |
3000 3000 -
2000 |- 2000 |-
1000 ;] 1000 :}]
O_ Ao 1 S B 0_ d o Ll N T
0 10000 20000 30000 0 10000 20000 30000
(kH2) (kHz)




